1/0d%0/ d N

Ratio to ATLAS

d H>*"Y [1/GeV]

[HEN
o
w

1074

[HEN
o
&

[EEY

0.5

13000 GeV pp tt
L B B I

| I I I L I I L B B B I %'
— 3
- ttHT (ATLAS semileptonic ttbar) 3
- 4=
~  m  ATLAS e
[ —F+— Pythia 6.428 350 n
—A— Pythia 6.428 370 =
B Pythia 6.428 380 15
—o— Pythia 6.428 p0 o
B hiag6.428 p2010 &
B <
- ™M
@
™
u H©
o
™
—
— =k
— 7 @,
B 1<
- — O
- £
()
— -
[%2]
- —2
o
o
| —1 I | | | | | | | | | | | | | | | | | E
:l T T T T | T T T T | T T T T | T T T T |:
— 42
1
L —0.5
P T S T P T S SR P T S SR P T S SR I
0 500 1000 1500 2000

H* [GeV], N 2 7



	Contents
	Page 1


